CSE 326 Reading Quiz

Name: ______________________ Score: ____

Wed. 8/02/00

Here is a graph.  

1. How many (different) spanning trees does it have?

2. How many minimal spanning trees does it have?

3. Draw a minimal spanning tree for the graph.

4. Prim’s algorithm operates just like Dijkstra’s except that (pick one)


the update rule for dv is different

            it can only run on graphs whose edges all have the same weight

            it does not have a KNOWN/UNKNOWN flag for the nodes

5. Kruskals’ algorithm works by merging (pick the best answer)


edges


subtrees


weights   

Here is a graph.

6. Write down a depth-first traversal for it, starting at node A.  Just write down the nodes in the order visited, without drawing a diagram.

7. For the graph above, list all the articulation points (if any).

 8. T/F A graph is biconnected if and only if it has exactly 2 articulation points

9. An Euler path is a cycle that visits every _____ once.  Edge or node?

